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ENGLISH VERSION

Instructions : (1) Give answer of all the questions on the basis of
internal option.

(2) The digits on the right side indicate marks.

1 What 1s agriculture economics ? Explain the characteristics 14
of agriculture economics.
OR
1 What 1s agriculture economics ? Explain the importance 14
of agriculture economics in Indian Economy.

2  What is agriculture labour ? Explain in detail the 14
problems of agriculture labour in India.
OR
2  What is agriculture labour ? Explain the remedies to 14

improve economical situation of agriculture labour in India.

3 Explain in detail the components of Green Revolution. 14
OR
3 Give explanation in detail the limitations of Green 14

Revolution in India.

4 Discuss the causes of low agriculture productivity in India. 14
OR
4 What is agriculture productivity? Discuss the trends of 14
agriculture productivity in India.

5 Write short notes : (any two) 14
(1) The importance of irrigation in Agriculture
development.
(2) Agriculture Labour
(3) Achievements of Green Revolution.
(4) Agriculture Inputs.
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